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PART A: Voeabulary

P j’

7

Directions: Choose the word or phrase (1}, (2), (3), or (4) that best Cﬁ%ﬁ\ 4 gh
\

sentence. Then mark the answer on your answer sheet. j)t
O b N
R S
1-  But at this point, it’s pretty hard to hurt my ....... E ‘ﬁ/ ..... \} ¢heard it all, and
I’m still here. / \\f e
1) characterization 2) fgé&‘ﬁé\%\wx"
3) sentimentality ) »ﬁ)\p}é
2-  Besure your child wears sunscreen whé}{é\gmgx&sf ................... to the sun.
1) demonstrated 2) confrontedf\ I By invulnerable 4) exposed
3-  Many of these popular best-sell@ﬁs ’i@{l! éio&@ ‘become dated and .................. , and
will eventually go ouff({rﬁ)rm’ﬂ” N AL %
I} irrelevant 3) fascinating 4) paramount
4-  The men who arrwed 11} th ) \“ ................. of criminals were actually undercover
police officers. :f;
1) uniform \< \‘u W)}ob 3) guise 4) distance
5-  Itwas méhe 2% ..,,é ............. to take my meals in bed, where all I had to do was push
away, ktxfa with its uneaten food and fall back upon my pillows.
)\h\aﬁb Zard 2) reckless 3) convenient 4) vigorous
6-;» \ uﬁfwtbrv sparked ararewaveof ... in his home country. Nicaraguans
} b‘tﬁred into the streets, honking car-horns and waving the national flag,
\\— ‘1) serendipity 2) tranquility 3) aspersion 4) euphoria
7-  He liked the ease and glitter of the life, and the Iuster .....coovvviiiniin on him by
being a member of this group of rich and conspicuous people.
1) conferred 2) equivocated 3) attained 4) fabricated

PART B: Cloze Test

Roman education had its first “primary schools” in the 3rd century BCE, but they
were not compulsory ... (8) entirely on tuition fees. There were no
official schools in Rome, nor were there buildings used specifically for the
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purpose. Wealthy families .................... (9) private tutors to teach their children
at home, while less well-off children were taught in groups. Teaching conditions
for teachers could differ greatly. Tutors who taught in a wealthy family did so in
comfort and with facilities; .................... {10) been brought to Rome as slaves,
and they may have been highly educated.

8- 1) which depending 2) and depended
3) for depended 4) that depended

9- 1) have employed 2) employed
3) were employed 4) employing

10- 1) some of these tutors could have 2) because of these tutors who have
3) that some of them could have 4) some of they should have

PART C: Reading Comprehension

a‘i“‘% i
PASSAGE I: e A i

The first step a cell takes in reading out a ne@dcd(\ pal%t\Q\f ifs genetic instructions is to
copy a particular portion of its DNA- ¢i§@§} Wfsequence-a gene-into an RNA
nucleotide sequence. The mformatlog &n hough copled into another chemical
form, is still written in e%sent;ally {Sﬁ ﬁhﬁguage as it is in DNA-the language of'a
nucleotide sequence. Hﬁgce the gpaen! ‘producing RNA molecules on DNA, 1s
transcription. Like D §iy ﬁvhnear polymer made of four different types of
nucleotide subunits lirik \gg@t her by phosphodiester bonds. It differs from DNA
chemically in tw Tespests i(i) the nucleotides in RNA are ribonucleotides-that is, they
contain the s ga} b@Se (hcnce the name ribonucleic acid) rather than deoxyribose; (2)
thoughm\ké« N}‘% RNA contains the bases adenine (A), guanine (G), and cytosine
(C) gt Qﬁt@ﬁ‘xs»fthe base uracil (U) instead of the thymine (T) in DNA. U. like T. can
b@g& pgu; y hvdrogen-bonding with A. Whereas DNA always occurs in cells as a
g \ /stranded helix, RNA is single-stranded. An RNA chain can therefore fold up
‘\ \\\j;nt{) a particular shape, just as a polypeptide chain folds up to form the final shape of a
~protein. The ability to fold into complex three-dimensional shapes allows some RNA
molecules to have precise structural and catalytic functions.

11- Which statement regarding transcription is NOT true?
1) Its final result is production of RNA
2) It is a process for information transmission
3) During transcription language is changed
4) It is the first step in reading genetic information of cell
12« 'Which of the following is a particular portion of DNA sequence?
1) Transcription 2) Gene
3)RNA 4) Language of nucleotide

i«% ﬂiﬁms.;i\,} i_s_?"ﬁ)’»g’ \.,m%}}g%m mw ;.X.AE,J L}Jw’m &J;L::a\
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13- DNA in contrast to RNA has ............0000 .

1) Adenine 2) Cytosine 3) Guanine 4) Deoxyribose
14- Thymine (T) in DNA is replaced by .......ecvveneee in transcription.

1) Adenine 2) Uracil 3) Cytosine 4) Guanine
15- RNA compared to DNA ................ .

1) cannot fold up

2) is single-stranded

3) does not have catalytic potentials

4) does not have three-dimensional shapes

PASSAGE 2:

Although the specialized cells in a multicellular organism have characteristic patterns
of gene expression, each cell is capable of altering its pattern of gene expre‘QS}QI";\l )
response to extracellular cues. If a liver cell is exposed to a glucocorticoid horn %‘K ﬁ\}g,
example, the production of a set of proteins is dramaﬁcaﬂy increased. Rgﬂ gmfhe
body during periods of starvation or intense exercise, giucocpm\cmds é@mﬁ i liver to
increase the production of energy from amino acids and other ynaH @@i@féﬁies the set
of proteins whose production is induced. m(ﬁudeks < ﬁé\} ¢hiZyme  tyrosine
aminotransferase, mentioned above. When the ho ﬁ\@ 10, i5\Ng, /longer present, the
production of these proteins drops to its normal, &et Tével in liver cells. Other
cell types respond to glucocorticoids differeptly i at ils, for example, reduce the
production of tyrosine aminotransferase, %hlf&%{)gﬁé;ﬁther cell types do not respond to
glucocorticoids at all. These examples. 4}1@ ite ageneral feature of cell specialization:
difterent cell types often respond vei”y”gi*@%r nily to the same extracellular signal. Other
features of the gene E&gress@\ ? m/d Lot change and give each cell type its
permanently dzstmctn{( Qbardct\erp e
T ‘e

16~ Which statemen%«gegavdk glucocortlcmds is NOT true?
1) Tncrease duft \sparvation
2y Liver i 11?\%& fheir targets

3) A{téﬁ\ﬁa‘t@» “production of energy
4N { hs‘ei}éxermse stimulates their secretion
17 ‘{ 458 the main message of this passage?
\ \\I)Effects of glucocorticoids 2) Pattern of gene expression
3) Explanation of cell signaling 4) Specialization of cells in the body
18- Production of tyrosine aminotransferase is ................ 1 SN cells in
response to glucocorticoids.
1) increased-liver 2) decreased- liver
3) increased-fat 4} unchanged- fat

19- Which statement is correct?
1) All cells are not capable of altering their gene expression in response to
extracellular cues.
2) Different cell types have different responses to the same extracellular signal.
3) All cells in a multicellular organism have the same gene expression profile.
4) Deletion of a hormone results in stronger effect on target cell.

iﬁ} {Bmiﬁ uf}.ﬁ)n{ ;_',‘..%:?ﬁ%.,m fﬁdﬁ,@,} »mg:&iﬁ kﬁ"lﬁj &nh
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20- Extracellular signals ................ .
1} affect only fat and liver cells
2) always change gene expression profile
3) affect only those cells which have their receptors
4y stimulate all cells in the body with different mechanisms

PASSAGE 3:

A quinone {called ubiquinone. or coenzyme Q) is a small hydrophobic molecule that is
freely mobile in the lipid bilayer. This electron carrier can accept or donate either one or
two electrons. Upon reduction (note that reduced quinones are called quinols), it picks up
a proton from water along with each electron. In the mitochondrial electron-transport
chain, six different cytochrome hemes, eight iron-sulfur clusters, three copper atoms, a
{flavin mononucleotide (another electron-transter cofactor), and ubiquinone Wor}fc»\;
defined sequence to carry electrons from NADH to O . In total, this pathwa{f nﬁifbl‘yeg /

more than 60 different polypeptides arranged in three large membrane prol;\ u\zﬁp kes
cach of which binds several of the above electron—carrym cafactorsy’ ¢ would
expect, the electron transfer cofactors have increasin aﬂ‘iglt;ﬁs for §R%Q%rons (higher
redox potentials) as the electrons move along the resp é’t ry chain, T hé redox potentials
have been fine-tuned during evolution by the protein en Kmf fmfﬁ% fj each cofactor, which
alters the cofactor's normal affinity for electrons. Bec &ﬂon sulfur clusters have a
relatively low affinity for electrons, they ed@ghnﬁfe\ ¢ first half of the respiratory
chain; in contrast, the heme cvtochromes ? gg{oﬁn;ﬁate further down the chain., where a
higher electron affinity is required. A 2 \
A a

21- Which statement doesnot exffs'l*a;n\p\hiqum&;e correctly?
1) It accepts electmdé‘" wwwwwwww \ e/
2) It is a small hydropff“i‘i \in‘rﬁecuie
3) It is freely rl%q'blle i Thé lipid bilayer
4)Itisa mﬁmfger Qf clectron-transport chain

22- Inthe t Qn d¥ial electron- ~transport chain .................. .
1) t@n IIX,\J gcfrons are transported to 0y

\g‘{g@ irapparatus is a critical organelle
A\ \ 3)) i!fotally, 15 proteins are involved
zr NADH is not necessary
23— "How many major protein complexes are involved in electron-transport chain?

1) 60 2)20
3)6 4)3
24- As we move along the respiratory chain, what happens for electron transfer
cofactors?
) Irregular changes 2} Decrease
3) No change 4) Increase
25-  Which one has the most electron affinity?
1) Flavin mononucleotide 2) Tron-sulfur clusters
3) Heme cytochromes 4) Ubiquinone
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